* The relations, still introducing an extra variable r as in polar coordinates (it will be very useful)

x = (pcos¢)cosb =ty 42
{y=(pcosq>)sin9 and r=psing , 6 €(0,27],¢ € [0, 7T]
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* If ¢ > 7 thenz <0, the angle make P lies below the Oxy-plane.
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Calculate the average height of a point inside the hemisphere 2% + y + 22 =1 with z > 0.
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Ex 5. | Use spherical integration to find the volume of the
solid bounded below by the cone

Z - Kz‘ﬁ j"

and above bv the hemisphere S

Z = J/[ - ')Cl* \1?/
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Find the volume of the solid between the sphere p = cos ¢ and the hemisphere p = 2, z > 0.
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Find the volume of the solid bounded below by the sphere p = 2 cos ¢ and above by the cone z = /22 + 2
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B X. G Evaluate the integral / / / (2 4+ y* + 2?) dV where E is the region between two half-cones
E

2z =+/22 + 9?2 and z = /322 + 3y? and bounded by the hemisphere z? + 32 + 22 = 9.
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